Note —

Section—-C 2x14=28
(Long Answer Type Questions)
Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. What is Utility ? With the help of diagram,
explain the relationship between Total Utility and
Marginal Utility.
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11. What is Price Elasticity of Demand ? Describe the

differ

ent degrees of price elasticity of demand.
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12. Discuss the equilibrium of firm in the short run
and long run in the case of perfect competition.

qui gfqfitar &t <90 H ST ql Qe § TH
wH % Gqed & faae st

13. Critically explain the marginal productivity theory
of distribution.

faaeor & HiH Sceehal g i STe=HTcHeS SAE
HIfST |
EC-01/4 (4) TT-304

EC-01
June — Examination 2024

B.A./B.Sc. (Part I) Examination

ECONOMICS
(Microeconomics Theory)

=fte 1y & g
Paper : EC-01

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.

EC-01/4 (1) TT-304 TurnOver



QU —3
(1fa &g 3T ue)
fcer ;- Tt el & W SINUI o9 S I FI TEATER
T e, Toh a9 T ifushad 30 sl # qiEitd
HIT | J&H I99 2 3F HT

1. (1) Explain the concept of ceteris paribus.
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(i) What do you mean by Marginal Utility ?
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(ii1) What is meant by Perfectly Elastic Demand ?
Explain.
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(iv) What is Income Consumption Curve ? Tell
in brief.
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(v)  What are constant returns to Scale ?
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(vi) What is Marginal Cost ?
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(vii) What is the marginal rate of technical
substitution ?
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Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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2. What is the relationship between Total Utility and
Marginal Utility ?
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3. What is the law of Diminishing Marginal Utility ?
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4. What is Indifference Map ?
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5. Explain the cross elasticity of Demand.
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6. Explain the characteristics of Monopoly Market.
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7. What do you understand by Value of Marginal
Productivity ? Clarify.
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8. What is Quasi Rent ?
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9. Explain the innovation theory of profit.
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